Enrollment NO.....c.ovuvieersiiniineenes

Bachelor of Science
Third Semester Main Examination, December-2021
Mathematics [BSM301T)]

Time: 3:00 Hrs

Max Marks 125

Note: - All three sections are compulsory. Student should not write anything on question

Paper.

Are: - wft i wf b ) frernefl gwry w g ey T

Part-A (W1 )

|2%10=20] Marks

This Section contains Objective Type Question each question carry 2 marks.

w0 # o g | udE g B Q) o il ¥

Q.1 Multiple choice Question / axgfTs yed

®

(i)

(iii)

(iv)

)

(vi)

Value of lim (1 +l)“ is-
n — oo n
lim
n— 00
(a) x*

(c)e*

(1+%)" P AM & —

Value of L {t’ 2}
L{te”} o am 2
(a)p%

©

6
(p-2)*

The value ofJ'o (x)is -
of Jo (x) @7 a7 & —
(a) 10(x)

(©) 1i(®)

Value of 1*1] is -

1*1 % A9 8 -
1.2

(@3t

©t

The set of all not Ural numbers is -
AR WTRfdes el & aerd: 99 § —
(a) Additive group/ Ira wg

(c) Cyclic group/ ==h1g g

(b) e
(d) xe™

1
(b) vy
(d)

1
(p-2)*

(b) -1,(x)
(d) Jo(x)

(by 1
()t

(b) Multiplicalive group/ Temeis &g
(d) Not a group/ w9g 78 ?|

If Nyend N, two normal subgroups of G then G/N,=G/N, if :
e Ny ok N, & W G & <) samrg SR 21 & G/N,=G/N,aR aiR daa afz

(@) N|=N,
(©)N1=N,

(b) N;<N,

(AN N, N, Page [1]




(vii) A subgroup is always and invariant (normal) subgroup of its order is-
Fre A fow P &1 g SwRE el oF e () SeE 2

()3 (b) 4

(©)5 (d2
(viii) nlimoo (1 + i)" is equal to -

Lim (1 + 1)" TWER -

n— o n

OF (b)e

1 (d) 0
(ix) The generater of cyclic group {1,w,w?}is -

e G g {1w,w?) @ aFE & —

() wow? (b) 1, w?

(©Lw (d) {1,w,w*}

x) The value of Po (x) is-
Po(x) @1 wr 3-

(@0 (b) 1
(c) x (d)
Part-B (W17 9) [7x5=35] Marks

This section contain short answer type question. Each question carries 7 marks.
All questions are compulsory.

oY S Y| 4S9 B 7 ofF FeifRa ) ol u we den o 2
Q.1 Find the value of L{Cost}.
L{Cos™t) ®1 5171 5@ @fdmg)
Or (3r2ran)
If L7Y{F(s)} =F(t), then show that
Lt (Fas)} =< F (£)
R L7H{F(s)} =F() @ Rig B L (F(as)} =2 F (ﬁ)

Q.2 Prove that every cyclic group is a commutative group.
Rz @ifam & o 720 wig wa e gar 2

Or (reran)
Prove that subgroup I1 of a group G is normal iff xHx™' = H, Vx€G.

frg PR &5 el wg G 31 7o Swagg H yam= &r & 3Rt ok daa afy
xHx' = H,VxeG
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Q3 Show that nlim (1) =e

oo \in
ez @G| log L)l/n:e
n — oo \in
Or (31eran)

Find the value of
T e FIRT —  L{te-' Sin® t}

Q.4 Prove that Intersection of two normal subgroup of a group is a normal subgrup.
frg ARG &N TE @ < = SuaEl 31 [aife ff s g Soagg 8 )
Or (31eran)
Prove that every Cylic group is an abelian group.

g 5T 31 7s ooy OF U@ adell g B 2|

1

Q.5 Use the convolution theorem to find {m}.
i 1
Or (31erar)

I/n

Prove that the Sequence {n'"} converges to limit 1.

Part-C (9131 ¥) [14%5=70] Marks

Long answer type question. Each question carries 14 marks. All questions are compulsory.
e gl v | T uE @ 14 ofF FeiRa F o vem g ww afverd 2

Q.1 Solve that following equation using power series method.
e S B Hera o faar war adieRer g o |

(l-xz)dz—y+2x% +y=0

dx?
Or (31eran)
State and prove Cauchy’s general principle of convergence of Sequence.
lim _
u, =0
n -

wf &7 A ) T Regia faRay ok Rreg afva i @ fb
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Q3

Find Laplace transform of the function 1-sinst

1-Sin3t .
W——:"— T AT SUFROT S BT |

Or (312rE)
et _t,—-bl
Find the value L { ___:___}

goat _.—bt
t

L{———}zﬁrmaﬁﬁﬁm

State and prove cayley’s theorem
aell & yAT BT U faaax g ARG |
Or (3reran)
State and prove LaGrange’s theorem.
AT 5 F peF ferany Rig @ifa |

Prove that out of n! permutations on n symbolsn;! even and 221 are odd.
"n ydiHt W n! Wﬁﬁ?wmgﬁwé"ﬁ?@aﬁﬁm
Or (3erar)
Prove that the necessary condition for the serie Zu, to be convergent but the
condition is not Sufficient. nli)moo Un =0
freg Ao 6 ol & Il 89 @ ol Ts wiie amaeas ¥ Wy gafa 98 2 5
lim _
Un =0
n — o

Test for convergence of the following series.
Sy &) arfraiRar 3 S &)

2 3 4
Sttt toex>0
Or (3rera)
If Hiand H; are two normal Subgroups of a group G. then prove that-
== <=>Hs=H,
afd HiatR Hy, @ G & @ yamg Uy &) a9 Rieg S|
EGI = % <=>H,=H,
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Enroliment NO..vvvieeveinenciins

Bachelor of Science
Third Semester Main Examination, December 2021
Computer Science [BSS301T]
Time: 3:00 Hrs Max Marks 85

Note : All three sections are compulsory.

Student should not write anything on question paper
e ;v i o afvarf @) fReneff gyees w g fad @

Part-A (¥11T 1) [1x15=15] Marks
This section contains objective type questions. Each question carry 1 marks.
w1 T ¥ gfrs W 2| URAE U B U i FPuiRa @)
Q1. Multiple Choice Question / a¥gfrss w4

@) Linear arrays are also called
AR W B AR A S wrar g —
(a) One dimensional array / a9 S¥9a 3R (b) Vertical array / axfeder 3R

(c) Horizontal array / ®iRdfeat ar (d) All of the above /w41 T&
(i) Which of the following data structure store the homogencous data clements ?

& A 3 A el RS g ST WehtY B W B & ?

(a) Lists / fere (b) Pointer / urg=x

(¢) Records / Rardw (d) Arrays / aR
(iii) The smallest element of an array's index is called its

I IS B UK VA< Bl FET AT B THD —————— —

(a) Extraction / veiewi (b) Range / ¥

(¢) Cower bound / dliax 9188 (d) Upper bound / 3R 919s

(iv) Which o the following is not the type of queue ?
= 5 @ B W ag FIER (type) TE 2

(a) Priority queue / 9IRS g (b) Circular queue WRHeR &g
(¢) Ordinary queue JRfET g (d) Single ended queue / RiTa T8 &g
W) Which of the following is an external sorting ?
=1 & ¥ 3 W gaRicHa AR ' ?
(a) Merge sort / ol a1 (b) Tree sort / €1 w1
(¢) Bubble sort / gt @rd (d) Insertion sort / 3T WE
vi) In case of insertion into a linked queue , a rode borrowed from the list is
insisted in the queue.
o 1 T Far ¥ wfdferd v &AM ¥ ————— YA W R o 11 iF A8 dar §
Srell Wl & —
(a) AVAIL / 3rd@ (b) FRONT / ®e

(¢) REAR / RR (d) NULL / Ser Page [1]




vii)

viii)

ix)

X)

xi)

xii)

xiii)

Xiv)

XV)

Which o the following application makes use of a circular limited list ?
famfRa & 4 B9 W ofaswd ager fits fore @1 I & @ 2

(a) Undo operation in a text editor. / T 2a€ @R @ &I &1 3! HY
(b) Recursive function calls / R&Rla v &fd

(c) Allocating CPU to resources / W=l &1 A1 41 g am&fed &=

(d) Implement how h tables / 21 2ga1 @17, &Y

One can converl a binary three to its mirror image by traversing it in -
uh g & B 9w grn vy § dad e aRafia e o wwen @ -

(a) Inorder / 313iTsY (b) Preorder / Hiaffex

(c) Postorder / 91¥e aifex (d) None of these / ®13 =&

Which data structure is reeded to convert infix notation to postfix rotation ?
gherT AT B URefhaa BRI § 9ee @ U R 3T IR B ek Bl § P
(a)Branch /smm  (b) Tree /&1 (c) Queue/ 3y (d) Stack/ Ra

New rodes are added to the of the queue ?
FAR & ~————— H Ay e o 9| § ?
(a) Front/®e  (b) Middle/#®=a (c) Back/a® (d)Bothaandb /g 3k &

From of access is used to add and remove nodes from a queue ?
BT ST BAR A A B e AR gem @ fag fear o 8 7
(a) LIFO, cast in first out / LIFO dR< 39 ®% A9
(b) FIFO, firstin first out/ FIFO %% 37 %< a9e
(c)Bothaandb /¢ 3k &
(d) None of the above /578 @ @5 78

The term push and pop is selected to -
e AR dfy R W&l & -
(a) Array /3R (b) Lists/g=  (c) Stacks / =& (d) Trees / 15

The situation when in a linked list START =NULL is ..........
a8 Refy oa fae fofepe fore ¥ START=NULL & ..........

(a) Undertlow / 3153wl (b) Overflow / 3favwFar
(¢) Houseful / gizager (d) Saturate / dXeq

Minimum nuber of fields in each rode of a doubly linked list is
TF 99 fofds gl @ U0 W Bles & oA A ®

(2)2 3

(c)4 (d) None of these / s @ ¥ &
Quick sort is also known as ?

@Ra g’ A —————— S &9 H A ST e 2 ?

(a) Merge sort /¥t e (b) Tree sort /€1 |

(¢) Shell sort / 9T | (d) Partition and exchange sort / o it Rifvzm wfd
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Part-B (91T 9) [5x4=20] Marks

This section contain short answer type question. Each question carries 4 marks.

All questions are compulsory.
Y IR U | 9 U B 4 ofF FuiRa €1 o uE g wR ofard 2

Q.1

Q.2

Q.3

Q4

Q.5

What is the difference between a PUSH and POP ?
% 3R 99 & 19 F7 R @ 7 ?

Or
List out few of the application of tree data structure ?

&) STREFR & §B AIA B A 9919 ?

Write an algorithm to traverse a linked list .

fois & T TA P TTHE F D AR e TR fod |

Or

What is insertion sort ?

[t PR Fa1 § ?

Define the following :-

=1 @t gRvr farfg |

iy AVL tree/ vdva & ii) Array / aR
Or

What is linked list ? Explain its types.
fofge foae & 2 ? 399 oK &1 aviF ST |

Write a program in Quick sort.
FE [E P UG NUm fored |

Or
Explain about deque.
g T ol FIRQ |
What are spanning trees ?
AT & @ 2 ?
Or
Explain about binary tree .
IR €1 B Ui B
Part-C (97 9) [5%10=50] Marks

Long answer type question. Each question carries 10 marks. All questions are compulsory.
et I we | Al ue @ 10 o FeiRa 81 Wi wea ga wRar e 2

Q.1

Write short note on following.
e o= Wi el ford |
i) Recursion R&w= ii) priority queue waRfe @y
Or
Define tree and binary tree . Explain preorder and postcodes tree traversal algorithm
by taking suitable example.
2 ok Il & 31 afenfe PR ? el ok diResiiER & add teniRem &1 daw
JETERYT B [ I |
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Q.2

Q3

Q4

Q.5

What is the difference between B tree and B tree ?
NAMA TN & frga w71 @R w27

Or
Write a program in C to perform the following operation in queue.
FaR 4 FrEtefad doea a@ § B @ie | e g faed
i) Delete / €ifere if) Display / fsqw

Convert the following infix expression into a postfix expression.
e ferftrer gfimam waalem & avefiey wamie § a5d)

i) A/IC(B*C) + (D*E) — (A*C)

ii) A&B * C-D + E/F /(G+H)

Or
Define following .
91 3 ufwifya $ife-
0] In fix notation
(i) Polish notation with example

Show the detailed concept of the stack to evaluate the following positive expression.

WWMWW?ﬁ&WWﬁWW@WTWl

632-5*%+]17+*
Or

What is a doubly linked list ? what is the advantage and singly linked list ? discuss.
S9a feirs forge wm 27 fTar fofde fove W 7 wrawr 872 ==t &% |

Give the following traversals ?

frfafaa eoda fear mar @
Inorder/ s af&R:EICFIBGDKHLA
Perorder/ M sk : ABCEIFJDGHKL

Or

Write a program to sort linked list.

foigs fore § TagaR AW & fo W fakay
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Enrollment NO....cviereeiciieness
Bachelor of Science
Third Scmester Main Examination, December 2021
Physics [BSP303T]
Time: 3:00 Hrs Max Marks 85

Note : All three sections are compulsory.

Student should not write anything on question paper

e : ot fF o afad €1 el gwmaa = e fad T4
Part-A (911 &)

This section contains objective type questions. Each question carry 1 marks.
39 o # IS yed ¥ vds v &1 WS ofc fwiRa 2

Q1. Multiple Choice Question / axfs uga [1x5=5] Marks
(i) The laser beam is -
oW’ g9 g 8-

(a) Only monochromatic / tsavft

(b) Only coherent / &aa HarEaH

(c) Only unidirectional / dd &

(d) Monochromatic coherent & unidirectional / vaauif Ter |er @ Usfaee

(ii) A grating has 15000 liner per inch the grating element nil be -
T, VT W 15000 ¥@G U 3T} AR diaRre B~
(a) 1.695x 10 cm () (b) 1.693x10%cm (31 )
(c) 1.693x 10 cm () (d) 1.693% 10 em (¥ )

(iii) A uniaxial double nelracting crystal is -
% el fEamads freed & —
(a) Calcite /dearse
(b) Topaz /s
(¢) Aragonite /Q¥1ATEE
(d) All the these /Suga @it

@iv) The eyepiece used in spectrometer in
WaeHex # IUaIT T & —
(a) Kellner's eyepiece /dee i3t
(b) Hagen's eyepiece /& 3@
(c) Ramsden eyepiece /2R A1
(d) None of these. /379 ® &'13 =&

) Microwave have wavelength of about -
Argpiad § o gar @ -
(a) 10cm (J+)
(b) 20cm (&)
(c) 30cm (3#1)
(d) 40cm (1) Page [1]




Q.2

Q3

Q4

Q.5

Q.1

Part-B (= 1) |5%5=25] Marks
This section contain short answer type question. Each question carries 5 marks.
All questions are compulsory.

ST SR 0T | a0 B 5 3% FuiRa 1 9 wed gw aven afvard @)

Write applications of aplanatic points.
fquel gl & Jram fake |
Or
Write the difference between Ramsden ard Huygens eyepiece

Yt dfe g A B i aikw faked |

What is the principle of supersession of light waver,
YHTA TR BT S F1 w@r g 2 2
Or

What in Compton effect ? obtain an expression for the shift in the wavelength of X-ray
beam ?

BT JAId F 1 &, TR = ) worded A 9891 @ o Ue el urg o |

What in diffraction ? Distinguish between the Fresnel and fraunhofer class diffraction.
e @ar @ ? dia ofiv B9 AW o @ fgdT § oiR we wfsE ?
Or

What do you understand by resolving power of an optical instrument ?
EPTH SUERT P AN e @ a9 A Y R P

What is Brewster's law?
geex &1 Fam ar 27

Or
What is meant by optical rotation?
waTeia gofa &1 e w27

What is laser 2 give its brief history.
R B UG HfNer @ 2

Or
Write the use of a photo transistor,
it eifoey & Sy fafd |

Part-C (47 %) [5%11=55] Marks
Long answer type question. Each question carries 11 marks. All questions are
compulsory.

G I g | W oAt B 11 oie PriiRa &) Wl v s B afar 2)

State Fermat's principle and deduce the laws of reflection and refraction.
wede &1 Rigr @ fafad qon 3o weEa Q wwmda g awad @ e Rig R |

Or
Obtain an expression for focal length of a combination of two coaxial thin lenses
separated by same distance.

WA QA A AT Y Ay ot A B AN B B w9 B g aoid a B
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Q.2

Q3

Q.4

Q.5

Discuss the interference of light in a thin parallel film and explain it with proper theory
obtain interference.
el A e @ Sfiet @ weR o ST R 2eR S e @R e
W i A e @) wt ora SR

Or
Explain the principle of fabry-perot interferometer. obtain expression for the intensity
distributing in the transmitted light,

'i-ﬂﬂqﬁmﬁmmmmmfmm,wrﬁmmﬁmﬁﬁmma%ﬁ‘»rﬂw'imw
wifem ?

Explain the meaning of resolving power of microscope and establish an expression for
it.
et A faieE emar o1 dief WIS I FHGT ot v R |

Or
obtain expression for the intensity distributing due to fraunhofer diffraction at N
parallel slit and discuss it graphically.
N—Wﬁﬂaqﬁ%ﬁwﬁaﬁqzﬁmmﬁawwmmﬁmﬁmw
TR "=t BRI |

Describe the construction and working of Nicol prism. How can it be used as a
polarizer and moralizer ?

TPR IudT & o o @

Or
Explain double reaction by electromagnetic waves ?

fa ety ot ARt Rarmed @) awen @ifm 2

Explain construction and working of Ruby laser.
wf oR @ faor o B1d B @ @ g
Or
What in a photo multiplier ? Give its construction working & uses.

WWWE‘,WWW%WWWI
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Enrollment No..................

Bachelor of Science
Third Semester Main Examination, December-2021
English [FCS301HE]
Time: 1:20 Hrs Max Marks 35

Note : There are three parts in this paper. All parts are compulsory.

Part-A
Q1. Objective type question [1x5=5] Marks
(i) What does the traffic policemen symbolize-
(a) Rules (b) Public liberty
(c) Freedom (d) Regulations
(ii) “What is Science” is written by .......... -
(a) George orwell (b) A.G. Gardiner
(c) Tina Morris (d) Nissim Ezekiel
(iii) According to peasants this world is ............. -
(a) Temporary (b) Permanent
(c) Real (d) Unreal
(iv) The father was ........ -
(a) Devoted and loring (b) Caring and rationalist
(c) Skeptic and irrationalist (d) Skeptic and rationalist

(v) The fat old lady, in the beginning of the essay on the rule of the Road’, is
walking down a busy road in-

(a) Spain (b) Petrograd
(c) Britain (d) Moscow
Part-B
Answer the following questions (any 2) [2x3=06] Marks
Q.1 Give short answer of questions.

(1) What does the poet mean by Whisperings of leaves would go silent?
(ii) Define liberty as perceived by the author.
(iii) How does trees sing.
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Q.2

Q.l

Q.2

Long answer types questions (Any two).- (2x7=14) Marks
(i) How was the mother bitten by the Scorpion? '
(i) *What is freedom™? Explain in your own word’s?

(iii) How do you compare the tree in poet’s imagination with the normal tree.

Part-C
Write a Paragraph on any one - [1x5=5] Marks
(i) Honesty is the best policy
(ii) Tree plantation
(iii) College education
Do as directed [1x5=5]Marks
(i) The mouse jumped the table (of/off/from)
(ii) They need kilogram of black salt (A/AM/The)
(iii) are camels, (Those/These)
(iv) They eat panipuri (convert into present continuous tense)
(v) A bunch of grapes tanging's on the vine (Is/Are)
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Enroliment NO.....cvicireivienines

Bachelor of Science
Third Semester Main Examination, December-2021
Hindi [FCS301HE]

Time: 1:40 Hrs Max Marks 50

die :

a3, 4, 9wl fQenf¥fat & foay afard @1 uyd@s 9 7 fag 1o
fadet &1 ytam W) Wy 3 favu e favrew giwar gy ¥ quifg
TR BT |

AT (37)

TS 9 ¢ [1x5=5]

g1

U2

U3

U4

U5

HYAT URA {4 & @ HIF & -

SIS OEEQSENT
(@) TR T e () U MAARTAV] SUTRATY

ey gre forar mar € —
(@) 7 pEHT | (@) ¥ snHHT A
() R BT PE A @) 9 @ yam @

Bfg 3 dled TR W B {59 9 W I —




AT (3)
AYIRII G ¢ [5%x3=15]

.1 @™ RETEE 3 A9 AR &1 oTR™ fbdad] I=IfSd & fFHar oar?
rerar
AT 3R Y U A @) 9 ave e B Rerd <o 2

9.2 N @ 7oA & T8 B W P
rerdt
2 3§ N 3 7 a5y A 71 B A 7@ 99 T A7

43 99 fhad UPR & B B
arerar
T BT IMAHR S I ?

AT ()

ey yeq - [10x3=30]

T4 a1 @ TRE ©d adam @ sforat § R iR 87
3rexar
Heren T @ fFa v 7 g fhar oy

92 <. argel b @ ofiad P fIHT AE R YSE SIferg?
Jrerar
gre) ure forar A & S wRIw g |

g3 R Y ITER (@ g @ T B AR @ aasEg?

Ferdr
I gd B T A 2
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Enrollment NO...cvevonisnnanns
Bachelor of Science
Third Semester Main Examination, December-2021

Environmental Science [FCS302EP]
Time: 3:00 Hrs Max Marks 35
Note:- All three sections are compulsory. Student should not write anything on

question Paper.

e - W 9e g wear e ¥ | freneff uve w w5 R W@ |

Part-A (91T a1) [1x5=5]

This Section contains Objective Type Question. Each question carries 1 mark.
0 1§ wgfe wed #| weld s @ U@ ofs PuiRa 2

Q.1 Multiple choice Question / awgfs wew

(i) Who was the leader of Chipko aundolan-
Ry ArRrer @ dorr o —
(a) Medha / e qree
(b) Arundharti Rod / armercly e

(c) Sundarlal Bahugune/ §g3%elal 957w
(d) Baba Amte / 9T 3

(ii) Energy consumes at the most-
St w1 waffs w@ug g @ -
(a) On rural area/ arfior &= #
(b) Cities/ 7y #

(c) Metro city / 7errt &

(d) None of these/ SwRiaa ¥ A &g 9
(iii) In Hindi which one is more dangerous condition of draugle-

el 7 @ & W Refy a9 @ -

(a) Akal / 3@t (b) Trikal / fe&re

(c) kal / &1a (d) None of these/ B &
(iv) Dam effects the-

TR T et -

(a) Forest/ et &l (b) Tribes / simonfaal &1

(c) Wilde life / Siet Sitaw &t (d) All above / SWRad i
) If the soil is basic them PH value is-

fedY Ift e ? @ PH o e 2

(a) lessthen7/7 & &1 (b) more then 7/7 =t aifdre

(c) equal to 7/ 7 & TR (d) Any value is possible / ®1F a7 g &
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This section contain short answer type question. Each question carries 3 marks.

Part-B (9171 9)

All questions are compulsory.
oY IOg U | YA v @ 3 o PR 1 vl v & e afard 2

Q.1

Q2

Q3

Q4

Q.5

Write a short note on the environment pollution.
TATEROT ST WY Ay fewoft firfag

OR
Write a short note on the Disaster management.

ATy wdyq W feueft forRau |

Write the techniques for water conservation.
STel WRE B ad-e faray?
OR

What do you understand by unsustainable development?
e e ) @ arad 27

Write definition of Naturel resources.
grRfas W @ gRbrT iRy |

OR
What is Soil erosion .
T 3TRGT a1 B |

Write the causes of Flood .
e B PR fafag |
OR
What is air pollution.
Iy UG a1 B |

Define population growth.
ST gfg @) WHEy |
OR

Define population explosion in India.
aed # SR e B Gt |

Part-C (w7 )

Long answer type question. Each queslion carries 5 marks. [Any 3]

e I wee |l ue @ 5 ofa fuiRa B [@E 3]

Q.1

Q2

Write short note on the flood and cyclone.
q1¢ T Tsharg R fouelY fafae)
OR

Write a report on pollution problem in your area.
A9 & @1 FguY wAe W) el ferfag )

Write an essay on the urban problems related to energy.
oIt e T FERl W) U e fafeg

[3x5=15]

[5x3=15]
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Q3

Q4

Q.5

OR

Write a short note on the food resources.
QY FEME W) feal) fakqy |

What do you mean by energy? Explain sources of energy.
Sl fBY Fed &7 Soif & Al Ear B wHEEy |
OR
Explain the effect of information technology on environment and human health.
I AR FT gHfaRyT ¢ A9 W@Red W FE &1 9 AR |

What is the wild life protection? Explain wild life protection Act 1972.
g1 Sflg e 41 8| g9 i 9)evr A 1972 #1 avfa B

OR
Explain disease due to air pollution.

I IEEUT | TG R 1 Iof AR

Write the charactersitce industrialization.

AreNfraTeEwer Bt fdwdry ke |
OR
How does the noise pollution effect human health.

A T f5E RE | AT B Aed B wifad FRAT 2|
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